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QUESTION 1

Identify the correct statement regarding the AutoPatch utility in R12.

A. AutoPatch does not verify the APPL_TOP name.

B. AutoPatch prompts the user for the SYSTEM and APPS passwords.

C. AutoPatch does not verify if the system is in maintenance mode or not.

D. AutoPatch does not verify whether the concurrent programs are installed in the current APPL_TOP.

E. AutoPatch does not verify whether it is pointing to the correct database and Applications technology stack.

Correct Answer: B

QUESTION 2

Which two statements are correct about multi-node cloning using Rapid Clone (adcfgclone.pl) for Oracle Applications
R127? (Choose two.)

A. Rapid Clone cannot be used for cloning if the source system is using a shared file system.

B. Post clone must be run first on the application tier node and then on the database node.

C. Rapid Clone can be used where the source system or the target system is a multi-node system.

D. Rapid Clone cannot be used for cloning if the source is using Parallel Concurrent Processing (PCP).

E. One copy of the applications node files must be copied to the target system, regardless of whether a shared file
system is being used on the source or the target system.

Correct Answer: CE

QUESTION 3

Which three statements about the Applications Context file are true? (Choose three.)
A. Itis a system configuration file.

B. It must be edited manually using a text editor.

C. Itis stored in an Oracle Applications Manager (OAM) schema.

D. It can be downloaded from Oracle Applications Manager (OAM).

E. It is created by Rapid Install using AutoConfig during installation and upgrade.

F. It stores all information required to configure an Oracle Applications instance.

Correct Answer: DEF
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QUESTION 4

John is working for XYZ company. He received a tape from a customer that has the.dbf files and ORACLE_HOME
database. He extracted the .dbf files from the tape to the server. After checking, he realized that the customer\\'s DBA
forgot to run preclone on the source database tier before taking a B ckup on the tape. To bring up the database
successfully using adcfgclone.pl (postclone) on target, what action would you ask the customer\\'s DBA to perform
instead of requesting for a full backup again?

A. Run preclone on the source database tier and request the customer\\'s DBA to send only .xml.

B. Run preclone on the source database tier and request the customer\\'s DBA to send only the oralnventory directory.

C. Run preclone on the source database tier and request the customer\\'s DBA to send only the dbf system tablespace
files.

D. Run preclone on the source database tier and request the customer\\'s DBA to send only bin under the
$ORACLE_HOME database.

E. Run preclone on the source database tier and request the customer\\'s DBA to send only the appsutil directory under
the $ORACLE_HOME database.

Correct Answer: E

QUESTION 5

John and Peter are working for the same project and handling the same environment called TEST. John receives a
request to apply a big patch on the TEST environment. He stops all services and starts applying this patch. At the time
when d-portion of the patch is going on, Peter gets a request to recompile all forms of the GL schema. Peter is not
aware that John is applying the patch, so he starts adadmin in the other session. What will happen in this case?

A. As soon as Peter executes adadmin, the adpatch session gets killed.

B. As soon as Peter executes adadmin, both adpatch and adadmin sessions get killed.

C. As soon as Peter executes adadmin, he gets the error You must be in Maintenance Mode to run adadmin.

D. As soon as Peter executes adadmin, he gets the error "You dont have permissions to execute adadmin as adpatch is
running.”

E. As soon as Peter executes adadmin and passes all relevant parameters required by adadmin to generate all GL
forms, adpatch will run as it was running and adadmin will indicate that "the FND_INSTALL_PROCESSES table created
by AutoPatch already exists."

Correct Answer: E
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